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IDSCLANEZ ] T have o clue what i+ (s iketo be a student

in tday's Amencan high schools, BUTT T see the vesulls \n
evtferng freshmen .

lrMO‘H')eﬂ\Oﬁqu no"-quy)J S a V}eas‘e and eﬁ(:\e‘n\- shorthand
for c_ompl{cc&ed methematical ideas and unless you are
wnﬁdub\e wit 1t , yod do not Uhders\-and\ the uvxdeﬁﬂ\})g

1deas.

RePeah'ng a recpe fo “sowe' a mathematical ?rz)\o\em Wee
e you'lUe seen befwe is meaningless, To e{:{ed"\ve(y use
math in a STEM field, you need to undeyrsand Hhe undev-binj
1daas go that you can apply them 1 unfamf o set ngs,

No xu =zt , ™ {0y, no named funchons , efc, Thee

f&m”\dr sngool's 'JfDY' . '{y]?(Ca\ . qu) PV\)‘O'em_g ‘i‘\ngger ouy
mental associahiong with mathematical achwvittec but we need

1o be recdy 1o trapsfer thoce achwties Yo aFP\chﬁ"onS .
WITHOUT  these 'ﬁam'\lmﬁr%m\oo\g
MAT ISUS gssumes you are familiac with {AOCHOV;)

dervahve and m)—egm\ notaty o ’Hm‘uugL; secHon 153
of Stewadt Caleulus, Let's review i+ briefly.

T wil\ pustlecture notes ke these for eadn dasc
S0 that you do not need ‘o taks notec but can
L_ISTEN caveﬁllxj o we as T ®<P\m\n New wakerral
and Presen’r fypical exa W)()les. Stop me durng my
fecture 1§ you do not understand something

Although you cany vead these v aduance, they lack
my vral delivery explaining the panted wordls. Keep
this v ming.
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The qudes Y = LD are neceszany because of the Limikehohs of
caledlus Yextbode notahon for the \near approxivation functyon,

This s S\des\cﬂfd \D‘d usm9 o] symbo ‘\{J\“ a Parhcu\ar Valve o€ X
namely 3 X=a.
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y= L(x)
= '§(G)+ &'(a\ (v—a)

neme of \\hear a X\rm(—\m
ot x=q dux mf‘si G
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Lden\fq‘h\)e cotdhor|  the “"deedee ¥ | notation makes
sense as a quatient

= {(x)

dy - _ (f;(xﬂ = df&) = :g (%)
dX _
n~ f e the name
fake denvate of e New
wrt x of derratius
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Hhe nght
surunck=d by
aren‘FncseS
when neded
U * o ) ) - v
M o (_4_5?. so d s like hm 2
ax A%—0
\ 2

@l,gf‘(' Hal nototon *Hhe numerztor and denhominator

make sense mdividually

dy_ Cifyy ——> dy = £10x) dx <~M>
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= q &)
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dx = ax  (ind. var.) dy _ $0dA . S
= £ d X (deyp. Var‘> X dX B

The denalve is @ @ wrth c:lluoﬁewﬂ‘ unite 1N GPP\\CUhOfI\S
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dummy vana'® " m%mce Po:njr e
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dA = $6O ax
A‘[}{): dA = ag(xw ™IS Says A ls an
IX “aanenvq\-\\re“OF§
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FIOON= A0+0 = AG) = () .
F(6)-F@) = [A+c)= [A@+C) = Alb) = F6O |
SO Lgr(L {(X\ O\X = |- (X) \q -ﬁr F (x\ :_f(\‘\ WG\\LG“-\&YT
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but comes out hard ( ivﬂ‘)
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Sumitarty using digebren to selve 6 particdlar
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